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A=25+11-35+05+3,7-9-1,5
=13,5-35+0,5+3,7-9-1,5
=10+ 0,5+3,7-9-1,5
=10,5+3,7-9-1,5

=142-9-1,5
=52-15
=3,7
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B=22-25+7x2-11+86:4-1,5
=22-25+14-11+2,15-1,5
=195+ 14— 11+2,15-1,5
=335-11+2,15-1,5
=22,5+2,15-1,5
=24,65- 1,5
=23,15
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C=35+[14—(15+3)]x2-05 x(58—4)—32

—35+[14-45]x2-05 x 1.8-32

=35+95x2-0,5x1,8-3,2

=35+19-09-3,2

=225-09-32

=21,6-3,2

=18.4
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LAk del kgb ya
kx(a+b)=axk+bxk ; kx(a-b)=axk-bxk
(a+tb)xk=axk+bxk ; (a-b)xk=axk-bxk
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D=25x(4+72) E=3x(11-55)
=25x4+2,5x7,2 =3x11-3x5.)5

=10+ 18 =33-16,

=28 =17
F=(65+1)x5 G=(13-92)x1,5
=5x65+5x1 =1,5x13-1,5%x9,2

=325+5 = 19,5-13,8

=375 = 5,7
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